				Insituform Technologies, LLC 17988 Edison Avenue		Hinterland	Group, Inc.	Lanzo Construction Co., Florida		
						992 W. 1	5th Street	125 S	5.E. 5th Court	
				Chesterfi	eld, MO 63005	Riviera Bea	ch, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
1	6.0 mm normal thickness (.236)	25000		\$20.50	\$512,500.00	\$22.00	\$550,000.00	\$35.00	\$875,000.00	
2	7.5 mm normal thickness (.0295)	800	LF	\$21.20	\$16,960.00	\$23.00	\$18,400.00	\$37.00	\$29,600.00	
3	9.0 mm normal thickness (.354)	800	LF	\$22.00	\$17,600.00	\$24.00	\$19,200.00	\$38.00	\$30,400.00	
4	6.0 mm normal thickness (.236)	2250	LF	\$23.20	\$52,200.00	\$28.00	\$63,000.00	\$40.00	\$90,000.00	
5	7.5 mm normal thickness (.0295)	125	LF	\$24.00	\$3,000.00	\$29.00	\$3,625.00	\$42.00	\$5,250.00	
6	9.0 mm normal thickness (.354)	125	LF	\$25.00	\$3,125.00	\$30.00	\$3,750.00	\$44.00	\$5,500.00	
7	6.0 mm normal thickness (.236)	50	LF	\$25.50	\$1,275.00	\$30.00	\$1,500.00	\$46.00	\$2,300.00	
8	7.5 mm normal thickness (.0295)	900	LF	\$27.60	\$24,840.00	\$32.00	\$28,800.00	\$50.00	\$45,000.00	
9	9.0 mm normal thickness (.354)	50	LF	\$32.50	\$1,625.00	\$34.00	\$1,700.00	\$52.00	\$2,600.00	
10	6.0 mm normal thickness (.236)	20	LF	\$28.90	\$578.00	\$38.00	\$760.00	\$56.00	\$1,120.00	
11	7.5 mm normal thickness (.0295)	360	LF	\$34.70	\$12,492.00	\$42.00	\$15,120.00	\$58.00	\$20,880.00	
12	9.0 mm normal thickness (.354)	20	LF	\$40.20	\$804.00	\$45.00	\$900.00	\$69.00	\$1,380.00	
13	6.0 mm normal thickness (.236)	20	LF	\$35.30	\$706.00	\$35.00	\$700.00	\$57.00	\$1,140.00	
14	7.5 mm normal thickness (.0295)	20	LF	\$42.60	\$852.00	\$38.00	\$760.00	\$61.00	\$1,220.00	
15	9.0 mm normal thickness (.354)	340	LF	\$48.60	\$16,524.00	\$55.00	\$18,700.00	\$83.00	\$28,220.00	
16	10.5 mm normal thickness (.413)	20	LF	\$51.60	\$1,032.00	\$58.00	\$1,160.00	\$88.00	\$1,760.00	
17	6.0 mm normal thickness (.236)	150	LF	\$37.00	\$5,550.00	\$42.00	\$6,300.00	\$72.00	\$10,800.00	
18	7.5 mm normal thickness (.0295)	300	LF	\$44.00	\$13,200.00	\$46.00	\$13,800.00	\$77.00	\$23,100.00	
19	9.0 mm normal thickness (.354)	300	LF	\$66.50	\$19,950.00	\$65.00	\$19,500.00	\$104.00	\$31,200.00	
20	10.5 mm normal thickness (.413)	750	LF	\$68.00	\$51,000.00	\$68.00	\$51,000.00	\$112.00	\$84,000.00	
21	12.0 mm normal thickness (.472)	300	LF	\$72.00	\$21,600.00	\$70.00	\$21,000.00	\$120.00	\$36,000.00	
22	Charge for each 1.5mm thickness increase									
22	per LF exceeding 12.0 mm	1	LF	\$3.20	\$3.20	\$5.00	\$5.00	\$5.00	\$5.00	
23	9.0 mm normal thickness (.354)	500	LF	\$61.60	\$30,800.00	\$60.00	\$30,000.00	\$99.00	\$49,500.00	
24	10.5 mm normal thickness (.413)	500	LF	\$73.70	\$36,850.00	\$76.00	\$38,000.00	\$126.00	\$63,000.00	
25	12.0 mm normal thickness (.472)	500	LF	\$80.20	\$40,100.00	\$84.00	\$42,000.00	\$137.00	\$68,500.00	
26	13.5 mm normal thickness (.531)	1000	LF	\$84.60	\$84,600.00	\$88.00	\$88,000.00	\$144.00	\$144,000.00	
27	15.0 mm normal thickness (.591)	500	LF	\$89.20	\$44,600.00	\$90.00	\$45,000.00	\$151.00	\$75,500.00	
20	Charge for each 1.5mm thickness increase									
28	per LF exceeding 15.0 mm	1	LF	\$3.70	\$3.70	\$5.00	\$5.00	\$6.00	\$6.00	
29	9.0 mm normal thickness (.354)	150	LF	\$66.30	\$9,945.00	\$65.00	\$9,750.00	\$107.00	\$16,050.00	
30	10.5 mm normal thickness (.413)	150	LF	\$79.90	\$11,985.00	\$84.00	\$12,600.00	\$136.00	\$20,400.00	
31	12.0 mm normal thickness (.472)	150	LF	\$87.20	\$13,080.00	\$90.00	\$13,500.00	\$148.00	\$22,200.00	
32	13.5 mm normal thickness (.531)	150	LF	\$92.70	\$13,905.00	\$95.00	\$14,250.00	\$157.00	\$23,550.00	
33	15.0 mm normal thickness (.591)	150	LF	\$98.10	\$14,715.00	\$100.00	\$15,000.00	\$165.00	\$24,750.00	

				Insituform Technologies, LLC		Hinterland	l Group, Inc.	Lanzo Construction Co., Florida		
				17988 6	dison Avenue	992 W. 1	.5th Street	125 9	S.E. 5th Court	
				Chesterfi	eld, MO 63005	Riviera Bea	ich, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
34	Charge for each 1.5mm thickness increase									
54	per LF exceeding 15.0 mm	1	LF	\$3.90	\$3.90	\$5.00	\$5.00	\$7.00	\$7.00	
35	9.0 mm normal thickness (.354)	100	LF	\$74.40	\$7,440.00	\$75.00	\$7,500.00	\$120.00	\$12,000.00	
36	10.5 mm normal thickness (.413)	100	LF	\$78.90	\$7 <i>,</i> 890.00	\$75.00	\$7,500.00	\$127.00	\$12,700.00	
37	12.0 mm normal thickness (.472)	100	LF	\$96.90	\$9,690.00	\$100.00	\$10,000.00	\$164.00	\$16,400.00	
38	13.5 mm normal thickness (.531)	100	LF	\$102.50	\$10,250.00	\$105.00	\$10,500.00	\$173.00	\$17,300.00	
39	15.0 mm normal thickness (.591)	350	LF	\$107.70	\$37,695.00	\$110.00	\$38,500.00	\$181.00	\$63,350.00	
40	Charge for each 1.5mm thickness increase									
40	per LF exceeding 15.0 mm	1	LF	\$4.70	\$4.70	\$5.00	\$5.00	\$8.00	\$8.00	
41	10.5 mm normal thickness (.413)	100	LF	\$90.00	\$9,000.00	\$90.00	\$9,000.00	\$145.00	\$14,500.00	
42	12.0 mm normal thickness (.472)	100	LF	\$119.10	\$11,910.00	\$124.00	\$12,400.00	\$201.00	\$20,100.00	
43	13.5 mm normal thickness (.531)	100	LF	\$126.40	\$12,640.00	\$130.00	\$13,000.00	\$213.00	\$21,300.00	
44	15.0 mm normal thickness (.591)	100	LF	\$133.30	\$13,330.00	\$135.00	\$13,500.00	\$223.00	\$22,300.00	
45	16.5 mm normal thickness (.650)	350	LF	\$139.20	\$48,720.00	\$144.00	\$50 <i>,</i> 400.00	\$232.00	\$81,200.00	
46	18.0 mm normal thickness (.709)	350	LF	\$146.80	\$51,380.00	\$150.00	\$52,500.00	\$244.00	\$85,400.00	
47	Charge for each 1.5mm thickness increase									
47	per LF exceeding 18.0 mm	1	LF	\$4.80	\$4.80	\$5.00	\$5.00	\$9.00	\$9.00	
48	8 - 12 inches diameter	28150	LF	\$1.70	\$47,855.00	\$1.50	\$42,225.00	\$3.00	\$84,450.00	
49	14 - 18 inches diameter	800	LF	\$2.20	\$1,760.00	\$2.00	\$1,600.00	\$4.00	\$3,200.00	
50	20 - 24 inches diameter	1750	LF	\$4.40	\$7,700.00	\$3.00	\$5,250.00	\$5.00	\$8,750.00	
51	27 - 42 inches diameter	850	LF	\$4.70	\$3,995.00	\$4.00	\$3,400.00	\$7.00	\$5,950.00	
52	48 - 72 inches diameter	1	LF	\$8.50	\$8.50	\$6.00	\$6.00	\$10.00	\$10.00	
53	8 - 12 inches diameter	1	LF	\$1.60	\$1.60	\$2.00	\$2.00	\$3.00	\$3.00	
54	14 - 18 inches diameter	1	LF	\$2.10	\$2.10	\$3.00	\$3.00	\$3.00	\$3.00	
55	20 - 24 inches diameter	1	LF	\$2.90	\$2.90	\$4.00	\$4.00	\$5.00	\$5.00	
56	27 - 42 inches diameter	1	LF	\$4.20	\$4.20	\$5.00	\$5.00	\$7.00	\$7.00	
57	48 - 72 inches diameter	1	LF	\$6.90	\$6.90	\$8.00	\$8.00	\$11.00	\$11.00	
58	8 - 12 inches diameter	1	LF	\$3.70	\$3.70	\$4.00	\$4.00	\$4.00	\$4.00	
59	14 - 18 inches diameter	1	LF	\$5.30	\$5.30	\$5.00	\$5.00	\$5.00	\$5.00	
60	20 - 24 inches diameter	1	LF	\$10.60	\$10.60	\$6.00	\$6.00	\$7.00	\$7.00	
61	27 - 42 inches diameter	1	LF	\$12.70	\$12.70	\$8.00	\$8.00	\$10.00	\$10.00	
62	48 - 72 inches diameter	1	LF	\$14.80	\$14.80	\$12.00	\$12.00	\$14.00	\$14.00	
63	8 - 12 inches diameter	1	LF	\$4.00	\$4.00	\$6.00	\$6.00	\$6.00	\$6.00	
64	14 - 18 inches diameter	1	LF	\$5.00	\$5.00	\$6.00	\$6.00	\$8.00	\$8.00	
65	20 - 24 inches diameter	1	LF	\$6.30	\$6.30	\$8.00	\$8.00	\$10.00	\$10.00	

				Insituform Technologies, LLC 17988 Edison Avenue		Hinterland	l Group, Inc.	Lanzo Construction Co., Florida 125 S.E. 5th Court		
						992 W. 1	.5th Street			
				Chesterf	ield, MO 63005	Riviera Bea	ich, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
66	27 - 42 inches diameter	1	LF	\$8.50	\$8.50	\$10.00	\$10.00	\$14.00	\$14.00	
67	48 - 72 inches diameter	1	LF	\$12.70	\$12.70	\$12.00	\$12.00	\$20.00	\$20.00	
68	8 - 12 inches diameter	1	LF	\$13.80	\$13.80	\$12.00	\$12.00	\$22.00	\$22.00	
69	14 - 18 inches diameter	1	LF	\$15.90	\$15.90	\$12.00	\$12.00	\$26.00	\$26.00	
70	20 - 24 inches diameter	1	LF	\$19.00	\$19.00	\$16.00	\$16.00	\$31.00	\$31.00	
71	27 - 42 inches diameter	1	LF	\$26.40	\$26.40	\$20.00	\$20.00	\$43.00	\$43.00	
72	48 - 72 inches diameter	1	LF	\$31.70	\$31.70	\$25.00	\$25.00	\$51.00	\$51.00	
73	6.0 mm normal thickness (.236)	500	LF	\$38.00	\$19,000.00	\$25.00	\$12,500.00	\$67.00	\$33,500.00	
74	7.5 mm normal thickness (.0295)	250	LF	\$40.00	\$10,000.00	\$26.00	\$6,500.00	\$71.00	\$17,750.00	
75	9.0 mm normal thickness (.354)	250	LF	\$51.30	\$12,825.00	\$28.00	\$7,000.00	\$91.00	\$22,750.00	
76	6.0 mm normal thickness (.236)	500	LF	\$43.40	\$21,700.00	\$45.00	\$22,500.00	\$77.00	\$38,500.00	
77	7.5 mm normal thickness (.0295)	500	LF	\$45.60	\$22,800.00	\$48.00	\$24,000.00	\$81.00	\$40,500.00	
78	9.0 mm normal thickness (.354)	350	LF	\$57.30	\$20,055.00	\$55.00	\$19,250.00	\$102.00	\$35,700.00	
79	6.0 mm normal thickness (.236)	250	LF	\$46.40	\$11,600.00	\$48.00	\$12,000.00	\$82.00	\$20,500.00	
80	7.5 mm normal thickness (.0295)	700	LF	\$48.80	\$34,160.00	\$50.00	\$35,000.00	\$87.00	\$60,900.00	
81	9.0 mm normal thickness (.354)	250	LF	\$60.80	\$15,200.00	\$60.00	\$15,000.00	\$108.00	\$27,000.00	
82	6.0 mm normal thickness (.236)	250	LF	\$51.70	\$12,925.00	\$55.00	\$13,750.00	\$89.00	\$22,250.00	
83	7.5 mm normal thickness (.0295)	1000	LF	\$60.40	\$60,400.00	\$65.00	\$65,000.00	\$110.00	\$110,000.00	
84	9.0 mm normal thickness (.354)	250	LF	\$73.00	\$18,250.00	\$80.00	\$20,000.00	\$132.00	\$33,000.00	
05	Charge for each 1.5mm thickness increase									
85	per LF exceeding 9.0 mm	1	LF	\$1.80	\$1.80	\$5.00	\$5.00	\$2.00	\$2.00	
86	6.0 mm normal thickness (.236)	250	LF	\$59.90	\$14,975.00	\$60.00	\$15,000.00	\$102.00	\$25,500.00	
87	7.5 mm normal thickness (.0295)	250	LF	\$70.40	\$17,600.00	\$65.00	\$16,250.00	\$106.00	\$26,500.00	
88	9.0 mm normal thickness (.354)	1000	LF	\$83.50	\$83,500.00	\$90.00	\$90,000.00	\$150.00	\$150,000.00	
89	10.5 mm normal thickness (.413)	250	LF	\$86.70	\$21,675.00	\$95.00	\$23,750.00	\$155.00	\$38,750.00	
00	Charge for each 1.5mm thickness increase									
90	per LF exceeding 10.5 mm	1	LF	\$3.20	\$3.20	\$5.00	\$5.00	\$7.00	\$7.00	
91	6.0 mm normal thickness (.236)	100	LF	\$67.00	\$6,700.00	\$65.00	\$6,500.00	\$107.00	\$10,700.00	
92	7.5 mm normal thickness (.0295)	100	LF	\$71.20	\$7,120.00	\$68.00	\$6,800.00	\$112.00	\$11,200.00	
93	9.0 mm normal thickness (.354)	100	LF	\$82.80	\$8,280.00	\$75.00	\$7,500.00	\$129.00	\$12,900.00	
94	10.5 mm normal thickness (.413)	100	LF	\$88.20	\$8,820.00	\$95.00	\$9,500.00	\$162.00	\$16,200.00	
95	12.0 mm normal thickness (.472)	100	LF	\$96.10	\$9,610.00	\$100.00	\$10,000.00	\$176.00	\$17,600.00	
00	Charge for each 1.5mm thickness increase									
96	per LF exceeding 12.0 mm	1	LF	\$3.20	\$3.20	\$5.00	\$5.00	\$7.00	\$7.00	
97	9.0 mm normal thickness (.354)	250	LF	\$92.30	\$23,075.00	\$90.00	\$22,500.00	\$147.00	\$36,750.00	

			Γ	Insituform Technologies, LLC 17988 Edison Avenue		Hinterland	Group, Inc.	Lanzo Construction Co., Florida 125 S.E. 5th Court		
						992 W. 1	5th Street			
				Chesterfield, MO 63005		Riviera Bea	ch, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
98	10.5 mm normal thickness (.413)	250	LF	\$97.40	\$24,350.00	\$110.00	\$27,500.00	\$184.00	\$46,000.00	
99	12.0 mm normal thickness (.472)	250	LF	\$107.10	\$26,775.00	\$120.00	\$30,000.00	\$200.00	\$50,000.00	
100	13.5 mm normal thickness (.531)	250	LF	\$111.70	\$27,925.00	\$125.00	\$31,250.00	\$207.00	\$51,750.00	
101	15.0 mm normal thickness (.591)	250	LF	\$116.60	\$29,150.00	\$130.00	\$32,500.00	\$214.00	\$53,500.00	
102	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$3.70	\$3.70	\$5.00	\$5.00	\$7.00	\$7.00	
103	9.0 mm normal thickness (.354)	100	LF	\$74.60	\$7,460.00	\$75.00	\$7,500.00	\$121.00	\$12,100.00	
104	10.5 mm normal thickness (.413)	100	LF	\$89.10	\$8,910.00	\$80.00	\$8,000.00	\$129.00	\$12,900.00	
105	12.0 mm normal thickness (.472)	100	LF	\$97.40	\$9,740.00	\$100.00	\$10,000.00	\$168.00	\$16,800.00	
106	13.5 mm normal thickness (.531)	100	LF	\$103.00	\$10,300.00	\$105.00	\$10,500.00	\$176.00	\$17,600.00	
107	15.0 mm normal thickness (.591)	100	LF	\$108.50	\$10,850.00	\$110.00	\$11,000.00	\$185.00	\$18,500.00	
108	Charge for each 1.5mm thickness increase per LF exceeding 15.0 mm	1	LF	\$3.90	\$3.90	\$5.00	\$5.00	\$9.00	\$9.00	
109	9.0 mm normal thickness (.354)	100	LF	\$83.90	\$8,390.00	\$3.00 \$80.00	\$3.00	\$135.00	\$9.00	
109	10.5 mm normal thickness (.413)	100	LF	\$83.90 \$99.40	\$9,940.00	\$80.00	\$8,500.00	\$133.00	\$13,300.00	
110	12.0 mm normal thickness (.472)	100	LF	\$107.70	\$10,770.00	\$83.00 \$110.00	\$8,300.00	\$142.00	\$14,200.00	
111	13.5 mm normal thickness (.531)	100	LF	\$107.70	\$10,770.00	\$110.00	\$11,500.00	\$193.00	\$19,300.00	
112	15.0 mm normal thickness (.551)	100	LF	\$113.50	\$11,870.00	\$115.00	\$12,000.00	\$193.00	\$19,300.00	
115	Charge for each 1.5mm thickness increase	100		Ş110.70	\$11,870.00	Ş120.00	\$12,000.00	\$201.00	\$20,100.00	
114	per LF exceeding 15.0 mm	1	LF	\$4.70	\$4.70	\$5.00	\$5.00	\$9.00	\$9.00	
115	10.5 mm normal thickness (.413)	350	LF	\$109.60	\$38,360.00	\$105.00	\$36,750.00	\$175.00	\$61,250.00	
116	12.0 mm normal thickness (.472)	350	LF	\$132.60	\$46,410.00	\$140.00	\$49,000.00	\$226.00	\$79,100.00	
117	13.5 mm normal thickness (.531)	350	LF	\$140.10	\$49,035.00	\$145.00	\$50,750.00	\$237.00	\$82,950.00	
118	15.0 mm normal thickness (.591)	350	LF	\$147.10	\$51,485.00	\$150.00	\$52,500.00	\$248.00	\$86,800.00	
119	16.5 mm normal thickness (.650)	350	LF	\$153.10	\$53,585.00	\$160.00	\$56,000.00	\$258.00	\$90,300.00	
120	18.0 mm normal thickness (.709)	350	LF	\$160.90	\$56,315.00	\$165.00	\$57,750.00	\$270.00	\$94,500.00	
121	Charge for each 1.5mm thickness increase per LF exceeding 18.0 mm	1	LF	\$4.80	\$4.80	\$5.00	\$5.00	\$10.00	\$10.00	
122	10.5 mm normal thickness (.413)	350	LF	\$128.20	\$44,870.00	\$135.00	\$47,250.00	\$220.00	\$77,000.00	
123	12.0 mm normal thickness (.472)	350	LF	\$154.50	\$54,075.00	\$175.00	\$61,250.00	\$287.00	\$100,450.00	
124	13.5 mm normal thickness (.531)	350	LF	\$162.40	\$56,840.00	\$185.00	\$64,750.00	\$301.00	\$105,350.00	
125	15.0 mm normal thickness (.591)	350	LF	\$170.20	\$59,570.00	\$195.00	\$68,250.00	\$315.00	\$110,250.00	
126	16.5 mm normal thickness (.650)	350	LF	\$178.10	\$62,335.00	\$200.00	\$70,000.00	\$330.00	\$115,500.00	
127	18.0 mm normal thickness (.709)	350	LF	\$184.90	\$64,715.00	\$210.00	\$73,500.00	\$342.00	\$119,700.00	

				Insituform Technologies, LLC 17988 Edison Avenue		Hinterland	l Group, Inc.	Lanzo Construction Co., Florida		
						992 W. 1	.5th Street	125 9	S.E. 5th Court	
				Chesterfield, MO 63005		Riviera Bea	ch, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
128	Charge for each 1.5mm thickness increase									
120	per LF exceeding 18.0 mm	1	LF	\$6.10	\$6.10	\$6.00	\$6.00	\$12.00	\$12.00	
129	12.0 mm normal thickness (.472)	350	LF	\$160.30	\$56,105.00	\$150.00	\$52,500.00	\$242.00	\$84,700.00	
130	13.5 mm normal thickness (.531)	350	LF	\$168.30	\$58,905.00	\$160.00	\$56,000.00	\$258.00	\$90,300.00	
131	15.0 mm normal thickness (.591)	350	LF	\$197.00	\$68,950.00	\$225.00	\$78,750.00	\$364.00	\$127,400.00	
132	16.5 mm normal thickness (.650)	350	LF	\$206.00	\$72,100.00	\$235.00	\$82,250.00	\$381.00	\$133,350.00	
133	18.0 mm normal thickness (.709)	350	LF	\$213.90	\$74,865.00	\$245.00	\$85,750.00	\$395.00	\$138,250.00	
134	19.5 mm normal thickness (.768)	350	LF	\$229.20	\$80,220.00	\$255.00	\$89,250.00	\$423.00	\$148,050.00	
135	21.0 mm normal thickness (.827)	350	LF	\$236.80	\$82,880.00	\$265.00	\$92,750.00	\$437.00	\$152,950.00	
136	Charge for each 1.5mm thickness increase									
120	per LF exceeding 21.0 mm	1	LF	\$6.80	\$6.80	\$8.00	\$8.00	\$14.00	\$14.00	
137	10.5 mm normal thickness (.413)	1	LF	\$180.10	\$180.10	\$150.00	\$150.00	\$242.00	\$242.00	
138	12.0 mm normal thickness (.472)	1	LF	\$191.20	\$191.20	\$160.00	\$160.00	\$258.00	\$258.00	
139	13.5 mm normal thickness (.531)	1	LF	\$200.20	\$200.20	\$170.00	\$170.00	\$274.00	\$274.00	
140	15.0 mm normal thickness (.591)	1	LF	\$209.30	\$209.30	\$210.00	\$210.00	\$338.00	\$338.00	
141	16.5 mm normal thickness (.650)	1	LF	\$216.70	\$216.70	\$225.00	\$225.00	\$373.00	\$373.00	
142	18.0 mm normal thickness (.709)	1	LF	\$252.90	\$252.90	\$285.00	\$285.00	\$465.00	\$465.00	
143	19.5 mm normal thickness (.768)	1	LF	\$267.40	\$267.40	\$300.00	\$300.00	\$491.00	\$491.00	
144	21.0 mm normal thickness (.827)	1	LF	\$278.60	\$278.60	\$315.00	\$315.00	\$512.00	\$512.00	
145	22.5 mm normal thickness (.886)	1	LF	\$289.70	\$289.70	\$330.00	\$330.00	\$532.00	\$532.00	
146	Charge for each 1.5mm thickness increase									
140	per LF exceeding 22.5 mm	1	LF	\$7.60	\$7.60	\$10.00	\$10.00	\$20.00	\$20.00	
147	10.5 mm normal thickness (.413)	1	LF	\$214.40	\$214.40	\$200.00	\$200.00	\$322.00	\$322.00	
148	12.0 mm normal thickness (.472)	1	LF	\$226.30	\$226.30	\$250.00	\$250.00	\$362.00	\$362.00	
149	13.5 mm normal thickness (.531)	1	LF	\$236.40	\$236.40	\$280.00	\$280.00	\$443.00	\$443.00	
150	15.0 mm normal thickness (.591)	1	LF	\$246.40	\$246.40	\$300.00	\$300.00	\$483.00	\$483.00	
151	16.5 mm normal thickness (.650)	1	LF	\$254.90	\$254.90	\$320.00	\$320.00	\$515.00	\$515.00	
152	18.0 mm normal thickness (.709)	1	LF	\$265.70	\$265.70	\$390.00	\$390.00	\$644.00	\$644.00	
153	19.5 mm normal thickness (.768)	1	LF	\$312.60	\$312.60	\$450.00	\$450.00	\$731.00	\$731.00	
154	21.0 mm normal thickness (.827)	1	LF	\$324.90	\$324.90	\$460.00	\$460.00	\$755.00	\$755.00	
155	22.5 mm normal thickness (.886)	1	LF	\$337.40	\$337.40	\$480.00	\$480.00	\$779.00	\$779.00	
156	Charge for each 1.5mm thickness increase									
156	per LF exceeding 22.5 mm	1	LF	\$11.10	\$11.10	\$12.00	\$12.00	\$40.00	\$40.00	
157	10.5 mm normal thickness (.413)	1	LF	\$468.90	\$468.90	\$475.00	\$475.00	\$772.00	\$772.00	
158	12.0 mm normal thickness (.472)	1	LF	\$473.80	\$473.80	\$485.00	\$485.00	\$783.00	\$783.00	

				Insituform Technologies, LLC 17988 Edison Avenue Chesterfield, MO 63005		Hinterland	Group, Inc.	Lanzo Construction Co., Florida 125 S.E. 5th Court		
						992 W. 1	5th Street			
						Riviera Bea	ch, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
159	13.5 mm normal thickness (.531)	1	LF	\$485.90	\$485.90	\$495.00	\$495.00	\$805.00	\$805.00	
160	15.0 mm normal thickness (.591)	1	LF	\$497.90	\$497.90	\$510.00	\$510.00	\$826.00	\$826.00	
161	16.5 mm normal thickness (.650)	1	LF	\$510.40	\$510.40	\$520.00	\$520.00	\$849.00	\$849.00	
162	18.0 mm normal thickness (.709)	1	LF	\$523.60	\$523.60	\$540.00	\$540.00	\$873.00	\$873.00	
163	19.5 mm normal thickness (.768)	1	LF	\$605.60	\$605.60	\$545.00	\$545.00	\$886.00	\$886.00	
164	21.0 mm normal thickness (.827)	1	LF	\$620.90	\$620.90	\$575.00	\$575.00	\$932.00	\$932.00	
165	22.5 mm normal thickness (.886)	1	LF	\$633.00	\$633.00	\$625.00	\$625.00	\$1,137.00	\$1,137.00	
166	Charge for each 1.5mm thickness increase									
100	per LF exceeding 22.5 mm	1	LF	\$13.70	\$13.70	\$20.00	\$20.00	\$26.00	\$26.00	
167	10.5 mm normal thickness (.413)	1	LF	\$574.60	\$574.60	\$550.00	\$550.00	\$904.00	\$904.00	
168	12.0 mm normal thickness (.472)	1	LF	\$579.50	\$579.50	\$575.00	\$575.00	\$916.00	\$916.00	
169	13.5 mm normal thickness (.531)	1	LF	\$591.70	\$591.70	\$600.00	\$600.00	\$942.00	\$942.00	
170	15.0 mm normal thickness (.591)	1	LF	\$605.60	\$605.60	\$625.00	\$625.00	\$967.00	\$967.00	
171	16.5 mm normal thickness (.650)	1	LF	\$622.10	\$622.10	\$650.00	\$650.00	\$993.00	\$993.00	
172	18.0 mm normal thickness (.709)	1	LF	\$637.70	\$637.70	\$675.00	\$675.00	\$1,021.00	\$1,021.00	
173	19.5 mm normal thickness (.768)	1	LF	\$735.90	\$735.90	\$700.00	\$700.00	\$1,036.00	\$1,036.00	
174	21.0 mm normal thickness (.827)	1	LF	\$753.90	\$753.90	\$750.00	\$750.00	\$1,091.00	\$1,091.00	
175	22.5 mm normal thickness (.886)	1	LF	\$765.70	\$765.70	\$800.00	\$800.00	\$1,331.00	\$1,331.00	
176	Charge for each 1.5mm thickness increase									
1/0	per LF exceeding 22.5 mm	1	LF	\$15.40	\$15.40	\$30.00	\$30.00	\$30.00	\$30.00	
177	8 - 12 inches diameter	1	LF	\$1.90	\$1.90	\$1.50	\$1.50	\$3.00	\$3.00	
178	14 - 18 inches diameter	1	LF	\$2.40	\$2.40	\$2.00	\$2.00	\$4.00	\$4.00	
179	20 - 24 inches diameter	1	LF	\$3.20	\$3.20	\$3.00	\$3.00	\$5.00	\$5.00	
180	27 - 42 inches diameter	1	LF	\$4.50	\$4.50	\$4.00	\$4.00	\$7.00	\$7.00	
181	48 - 72 inches diameter	1	LF	\$6.60	\$6.60	\$6.00	\$6.00	\$11.00	\$11.00	
182	Up to 84 inches diameter	1	LF	\$11.60	\$11.60	\$10.00	\$10.00	\$16.00	\$16.00	
183	8 - 12 inches diameter	1	LF	\$2.40	\$2.40	\$2.00	\$2.00	\$4.00	\$4.00	
184	14 - 18 inches diameter	1	LF	\$4.20	\$4.20	\$3.00	\$3.00	\$7.00	\$7.00	
185	20 - 24 inches diameter	1	LF	\$8.50	\$8.50	\$4.00	\$4.00	\$14.00	\$14.00	
186	27 - 42 inches diameter	1	LF	\$10.60	\$10.60	\$5.00	\$5.00	\$17.00	\$17.00	
187	48 - 72 inches diameter	1	LF	\$12.70	\$12.70	\$8.00	\$8.00	\$20.00	\$20.00	
188	Up to 84inches diameter	1	LF	\$19.00	\$19.00	\$15.00	\$15.00	\$25.00	\$25.00	
189	8 - 12 inches diameter	1	LF	\$4.20	\$4.20	\$4.00	\$4.00	\$7.00	\$7.00	
190	14 - 18 inches diameter	1	LF	\$8.50	\$8.50	\$5.00	\$5.00	\$14.00	\$14.00	
191	20 - 24 inches diameter	1	LF	\$12.70	\$12.70	\$6.00	\$6.00	\$20.00	\$20.00	

				Insituform Technologies, LLC 17988 Edison Avenue		Hinterland	l Group, Inc.	Lanzo Construction Co., Florida		
						992 W. 1	.5th Street	125 9	S.E. 5th Court	
				Chesterfield, MO 63005		Riviera Bea	ch, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
192	27 - 42 inches diameter	1	LF	\$16.90	\$16.90	\$8.00	\$8.00	\$27.00	\$27.00	
193	48 - 72 inches diameter	1	LF	\$19.00	\$19.00	\$15.00	\$15.00	\$31.00	\$31.00	
194	Up to 84 inches diameter	1	LF	\$31.70	\$31.70	\$25.00	\$25.00	\$37.00	\$37.00	
195	8 - 12 inches diameter	1	LF	\$4.00	\$4.00	\$4.00	\$4.00	\$6.00	\$6.00	
196	14 - 18 inches diameter	1	LF	\$5.00	\$5.00	\$4.00	\$4.00	\$8.00	\$8.00	
197	20 - 24 inches diameter	1	LF	\$6.30	\$6.30	\$6.00	\$6.00	\$10.00	\$10.00	
198	27 - 42 inches diameter	1	LF	\$8.50	\$8.50	\$8.00	\$8.00	\$14.00	\$14.00	
199	48 - 72 inches diameter	1	LF	\$12.70	\$12.70	\$12.00	\$12.00	\$20.00	\$20.00	
200	Up to 84inches diameter	1	LF	\$42.30	\$42.30	\$18.00	\$18.00	\$28.00	\$28.00	
201	8 - 12 inches diameter	1	LF	\$13.80	\$13.80	\$12.00	\$12.00	\$22.00	\$22.00	
202	14 - 18 inches diameter	1	LF	\$15.90	\$15.90	\$12.00	\$12.00	\$26.00	\$26.00	
203	20 - 24 inches diameter	1	LF	\$19.00	\$19.00	\$14.00	\$14.00	\$31.00	\$31.00	
204	27 - 42 inches diameter	1	LF	\$26.40	\$26.40	\$16.00	\$16.00	\$43.00	\$43.00	
205	48 - 72 inches diameter	1	LF	\$31.70	\$31.70	\$25.00	\$25.00	\$51.00	\$51.00	
206	Up to 84inches diameter	1	LF	\$68.80	\$68.80	\$40.00	\$40.00	\$61.00	\$61.00	
207	8 inches diameter	1500	LF	\$0.10	\$150.00	\$3.00	\$4,500.00	\$2.00	\$3,000.00	
208	10 inches diameter	750	LF	\$0.10	\$75.00	\$3.00	\$2,250.00	\$2.00	\$1,500.00	
209	12 inches diameter	900	LF	\$2.10	\$1,890.00	\$3.00	\$2,700.00	\$3.00	\$2,700.00	
210	15 inches diameter	380	LF	\$5.30	\$2,014.00	\$4.00	\$1,520.00	\$13.00	\$4,940.00	
211	18 inches diameter	340	LF	\$10.60	\$3,604.00	\$4.00	\$1,360.00	\$21.00	\$7,140.00	
212	21 inches diameter	750	LF	\$12.70	\$9,525.00	\$8.00	\$6,000.00	\$24.00	\$18,000.00	
213	24 inches diameter	1000	LF	\$15.90	\$15,900.00	\$8.00	\$8,000.00	\$32.00	\$32,000.00	
214	27 inches diameter	1	LF	\$37.00	\$37.00	\$8.00	\$8.00	\$48.00	\$48.00	
215	30 inches diameter	1	LF	\$52.90	\$52.90	\$10.00	\$10.00	\$56.00	\$56.00	
216	36 inches diameter	1	LF	\$68.80	\$68.80	\$12.00	\$12.00	\$72.00	\$72.00	
217	Standard Service Reconnection	1	Each	\$500.00	\$500.00	\$350.00	\$350.00	\$161.00	\$161.00	
218	Service Connection - Grouting	1	Each	\$300.00	\$300.00	\$150.00	\$150.00	\$483.00	\$483.00	
219	Flagman	1	Setup	\$338.50	\$338.50		\$750.00	\$545.00	\$545.00	
220	Arrow Board	1	Setup	\$185.10	\$185.10	\$450.00	\$450.00	\$298.00	\$298.00	
221	Barricades	1	Setup	\$1,586.80	\$1,586.80	\$500.00	\$500.00	\$2,555.00	\$2,555.00	
222	Lane Dividers	1	Setup	\$528.90	\$528.90	\$1,200.00	\$1,200.00	\$852.00	\$852.00	
223	Flagman	1	Setup	\$338.50	\$338.50	\$500.00	\$500.00	\$545.00	\$545.00	
224	Arrow Board	1	Setup	\$185.10	\$185.10	\$350.00	\$350.00	\$298.00	\$298.00	
225	Barricades	1	Setup	\$1,057.80	\$1,057.80		\$450.00	\$1,703.00	\$1,703.00	
226	Lane Dividers	1	Setup	\$528.90	\$528.90	\$750.00	\$750.00	\$852.00	\$852.00	

			Γ	Insituform Technologies, LLC 17988 Edison Avenue		Hinterland	l Group, Inc.	Lanzo Construction Co., Florida 125 S.E. 5th Court		
			Γ			992 W. 1	.5th Street			
			Γ	Chesterfield, MO 63005		Riviera Bea	ich, Fl 33404	Deerfield Beach, Fl 33441		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
227	Flagman	1	Setup	\$338.50	\$338.50	\$750.00	\$750.00	\$545.00	\$545.00	
228	Arrow Board	1	Setup	\$185.10	\$185.10	\$450.00	\$450.00	\$298.00	\$298.00	
229	Barricades	1	Setup	\$1,057.80	\$1,057.80	\$500.00	\$500.00	\$1,703.00	\$1,703.00	
230	Lane Dividers	1	Setup	\$528.90	\$528.90	\$1,200.00	\$1,200.00	\$852.00	\$852.00	
231	6 - 12 inches diameter	1	LF	\$2.60	\$2.60	\$3.00	\$3.00	\$4.00	\$4.00	
232	14 - 18 inches diameter	1	LF	\$3.70	\$3.70	\$3.00	\$3.00	\$8.00	\$8.00	
233	20 - 24 inches diameter	1	LF	\$5.00	\$5.00	\$4.00	\$4.00	\$8.00	\$8.00	
234	27 - 30 inches diameter	1	LF	\$9.30	\$9.30	\$5.00	\$5.00	\$15.00	\$15.00	
235										
	Inspection from main up to 30 ft 4 6 inches	17	EA	\$290.90	\$4,945.30	\$500.00	\$8,500.00	\$17.00	\$289.00	
	Inspection from main beyond 30 ft	4	EA	\$15.90	\$63.60	\$100.00	\$400.00	\$9.00	\$36.00	
237	Inspection from clean out up to 30 ft	17	EA	\$105.80	\$1,798.60	\$350.00	\$5,950.00	\$10.00	\$170.00	
238	Inspection from clean out beyond 30 ft	4	EA	\$5.30	\$21.20	\$100.00	\$400.00	\$5.00	\$20.00	
	CIPP Lateral Liner 4-6 inches up to 30 ft with						4			
		34	EA	\$2,500.00	\$85,000.00	\$3,600.00	\$122,400.00	\$196.00	\$6,664.00	
	CIPP Lateral Liner 4-6 inches up to 30 ft with									
	Full Circle Type Main/Lateral Connection									
	System	34	EA	\$3,358.60	\$114,192.40	\$4,500.00	\$153,000.00	\$196.00	\$6,664.00	
241	CIPP Lateral Liner 4-6 inches Diameter									
	beyond 30 ft	7	EA	\$52.90	\$370.30	\$100.00	\$700.00	\$51.00	\$357.00	
	Mobilization	1	LS	\$2,644.60	\$2,644.60	\$2,800.00	\$2,800.00	\$7,245.00	\$7,245.00	
123	Cured-in-place 8 - inch sectional pipe lining									
	8 linear feet in length	10	EA	\$2,115.70	\$21,157.00	\$3,400.00	\$34,000.00	\$3,220.00	\$32,200.00	
	Additional length of cured-in-place sectional					470.00	4700.00			
		10	EA	\$317.40	\$3,174.00	\$70.00	\$700.00	\$650.00	\$6,500.00	
245	Cured-in-place 10- inch sectional pipe lining			4		4				
		10	EA	\$2,644.60	\$26,446.00	\$3,400.00	\$34,000.00	\$4,508.00	\$45,080.00	
	Additional length of cured-in-place 10 inch									
	sectional pipe lining beyond 8 linear feet in				4	4	4			
		10	EA	\$423.10	\$4,231.00	\$100.00	\$1,000.00	\$966.00	\$9,660.00	
		10	EA	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$322.00	\$3,220.00	
248	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	
				Total Price	\$3,484,918.90	Total Price	\$3,749,788.50	Total Price	\$5,700,076.00	